[T(4th Sm.)-Economics- G/(SEC-B-I)/CBCSJ

2021

ECONOMICS — GENERAL
Paper : SEC-B-1
(Economic Data Analysis and Report Writing)
Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.
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SI. No. Name of the States / UTs FDI Equity Inflows in 2020-21
(April - March) (in T Crores)
1. Gujarat 1,62,830
2. Maharashtra 1,19,734
3. Karnataka 56,884
4. Delhi 40,464
5. Tamil Nadu 17,208

(ST B ¢ Government Report)
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Sector 2015 - 16 2016 - 17

Coal 4.8 32

Crude Oil (- 1.4 (- 2.5

Natural Gas (-) 4.7 - 1.0
Refinery Products 4.9 4.9
Fertilizers 7 0.2
Steel (- 1.3 10.7

Cement 4.6 - 12
Electricity 5.7 5.8

¢| R e seeieE T [ st

o
o

Annual Sales (in ¥ thousands)| Number of Firms
Less than 10 120
Less than 20 200
Less than 30 270
Less than 40 400
Less than 50 500
Y| @G @4 e faf =reR @Rt amin S |
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(Data Source : Government Report)
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Income Loss (in %) of 10 Male and Female Respondents

Gender | RyM | R,M | RsM | RyM | RsM | RQM | R;M | RgM | RgM | R;oM

Male 5,000 | 7,000 | 4,500 | 2,000 | 4,500 | 1,000 | 8,000 | 7,500 | 4,200 | 800

Gender | RyF | RyF | RyF | RyF | RsF | RF | RF | RgF | RoF | Ry(F

Female 1,000 | 5,000 | 3,000 | 4,500 | 9,000 | 3,200 | 1,500 800 1,000 | 6,000
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50 - 100 8 20
100 - 150 17 35
150 - 200 40 50
200 - 250 20 55
250 - 300 15 40
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w27« (GrE) ¢ 90 - 110 110 - 130 130 - 150 150 - 170
RITGS AN : 20 26 f3 J4

so| () FiHe wrara ARG Al GRe tof s, a9 ¢fe @fis @t =1 10 | Feee s @@=
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150, 200, 100, 50, 80, 120, 170, 60, 50, 300, 220, 180, 250, 350, 320, 400, 200, 180, 230, 270, 220,
180, 150, 100, 60, 90, 150, 150, 450, 500.

() Totare oA fefere aMififes e (A.M.), Sarst (Median) @3 51% Rpife (S.D.) R st |
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01 () feffs s 12 braa = e Feal | Fsre s April, 2021-93 GST (TF I8 STWRIE

O 4R |
GROSS GST T (Crores)
CGST 27,837
SGST 35,621
IGST 68,481
CESS 9,445
GROSS GST 1,41,384

(ST7F BA ¢ Ministry of Finance, GOI)
(*) FTHe ©2 (4TS T Wﬁ@% i (mean deviation about mean) et et ¢

X : 10 11 12 13 14
f: 3 12 18 12 3 Yo+
[ English Version |

The figures in the margin indicate full marks.

Group - A
1. Answer any ten questions : 2x10
(a) What is Pie diagram?
(b) What is the purpose of footnote in a tabular presentation?
(c) What is ogive?
(d) Find the range of the series :
5,8,20,2,15

(e) Arithmetic Mean and Median of a set of observations are ¥ 30 and ¥ 35 respectively. Find the value
of Mode.

(f) The mean monthly wage income of 60 informal workers is ¥ 5,000 and mean monthly wage income
of 40 formal workers is ¥ 15,000. Calculate, mean monthly wage income of 100 workers.

(g) In a sample study, it was found that monthly per capita income of rural households was ¥ 6,000
and the same for urban households was ¥ 10,000. Considering this, how do you explain the
observation?
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(h) Represent the following Rate of Growth of GDP (% YoY basis) of India at 2004-05 constant
prices by a Bar Diagram.

(M)
0)

)

U]
(m)
(n)
(0)

(6)

Year

2010 - 11

2011 - 12

2012 - 13

Rate of Growth
(% YoY Basis)

891

6.69

447

What is literature survey?

Find out Standard Deviation (S.D.) of the following :

2,4,6,8,10

What is Positive Correlation?

Find the mean if C.V. = 5% and Variance = 4.

What is bibliography?

What do you mean by Gini Coefficient?
Find the median of 20, 40, 50, 70, 90, 100, 125.

Group -

B

Answer any three questions :

2. Represent the following data by using a suitable statistical diagram :

(Data of Source : CSO)

SI. No. Name of the States / UTs FDI Equity Inflows in 2020-21
(April - March) (in ¥ Crores)
1. 1,62,830
2. Maharashtra 1,19,734
3. Karnataka 56,884
4. 40,464
5. Tamil Nadu 17,208

3. Find the median of the data given below :

(Data Source :

Government Report)

Class 15-25 25-35 35-45 45-55 55-65 65-75
Boundaries
Frequency 4 11 19 0 14 2
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4. Consider the following data of growth in the production of eight core industries in 12th Plan; calculate
average growth rate (in percentage) of those sectors based on two consecutive years’ data and ranking
those sectors in terms of average growth performance.

Sector 2015 - 16 2016 - 17
Coal 4.8 32
Crude Oil (- 1.4 (- 2.5
Natural Gas (-) 4.7 - 1.0
Refinery Products 4.9 4.9
Fertilizers 7 0.2
Steel (- 1.3 10.7
Cement 4.6 - 1.2
Electricity 5.7 5.8

(Data Source : Government Report)

5. Calculate Mode from the following data :

Annual Sales (in ¥ thousands)| Number of Firms
Less than 10 120
Less than 20 200
Less than 30 270
Less than 40 400
Less than 50 500

6. Explain the concept of Lorenz Curve and Gini Coefficient.

Group - C
Answer any three questions :

7. Consider the following data, collected from 10 Male respondents (R{M, R,)M, ....... , RjoM) as well as
from 10 Female respondents (RF, R,F, ...... , R;(oF) through Primary survey on Income Loss in the time
of Lockdown, 2020. Using different measures of central tendency, interpret the results through all
possible ways : 15
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Income Loss (in %) of 10 Male and Female Respondents

Gender | RM | R,;M | RsM | R;M | RsM | RM | R,M | RgM | RgM | Ry (M

Male 5,000 | 7,000 | 4,500 | 2,000 | 4,500 | 1,000 | 8,000 | 7,500 | 4,200 | 800

Gender | RyF | RyF | RyF | RyF | RsF | RGF | RF | RgF | RoF | Ry(F

Female 1,000 | 5,000 | 3,000 | 4,500 | 9,000 | 3,200 | 1,500 800 1,000 | 6,000

8. The following table gives the distribution of wages in the two different organizations (Organization
A and Organization B). Find out which organization has greater variability in wages relating to the

average wage : 15
Number of Workers
Monthly Wages (in ) Organization A Organization B
50 - 100 8 20
100 - 150 17 35
150 - 200 40 >0
200 - 250 20 >
250 - 300 15 40

9. If AM. of the following distribution is 130 find the missing frequencies ‘f3” and ‘f,” given
N = Zf; = 100. 15

Expenditure per day (in %) : 90 - 110 110 - 130 130 - 150 150 - 170
Number of Students : 20 26 f3 Ja
10. (a) Construct a frequency table with class width 10 from the following data. The following data reveal

daily wages (in %) of casual workers in an organization.

150, 200, 100, 50, 80, 120, 170, 60, 50, 300, 220, 180, 250, 350, 320, 400, 200, 180, 230, 270, 220,
180, 150, 100, 60, 90, 150, 150, 450, 500.

(b) Based upon the above data, calculate Arithmetic Mean, Median and Standard Deviation (S.D).
5+10
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11. (a) Represent the following data by a pie chart on Gross GST revenue collection for April, 2021.

GROSS GST T (Crores)
CGST 27,837
SGST 35,621
IGST 68,481
CESS 9,445

GROSS GST 1.41,384

(Data Source : Ministry of Finance, GOI)

(b) Calculate mean deviation about mean of the following distribution :
X: 10 11 12 13 14
f: 3 12 18 12 3 10+5




